EE 361002 Signal and System HW13 Answer

9.21

(a)
$$\chi(t) = e^{2t}u(t) + e^{2t}u(t)$$
 $e^{3t}u(t) \stackrel{?}{=} \frac{1}{5+2}$, $Re_1^2 s_1^2 > 2$
 $e^{3t}u(t) \stackrel{?}{=} \frac{1}{5+2} + \frac{1}{5+3} = \frac{2s+5}{5^2+5+6}$
 $\Rightarrow \chi(s) = \frac{1}{5+2} + \frac{1}{5+3} = \frac{2s+5}{5^2+5+6}$
 $Roc : Re_1^2 s_1^2 > -2$

(d) $\chi(t) = te^{-2t}t! = te^{-2t}u(t) + te^{-2t}u(-t)$
 $e^{2t}u(t) \stackrel{?}{=} \frac{1}{5+2}$, $Re_1^2 s_1^2 > 2$
 $e^{2t}u(-t) \stackrel{?}{=} \frac{1}{5+2}$, $Re_1^2 s_1^2 > 2$
 $\chi(t) = e^{2t}u(t) + e^{2t}u(-t) \stackrel{?}{=} \frac{1}{5-2}$, $Re_1^2 s_1^2 > 2$
 $\chi(t) = t\chi_1(t) \stackrel{?}{=} \frac{1}{5-2}$, $\chi_1(s) = \frac{1}{5+2} + \frac{1}{5-2} = \frac{-\gamma}{5^2} + \frac{1}{5-2} = \frac{1-26^2 + e^{-25}}{5^2} = \frac$

$$(a) \times (s) = \frac{1}{s^2 + 9} \quad \text{Re}\{s\} > 0$$

$$= \frac{3}{s^2 + 3^2} \times \frac{1}{3}$$

$$(\Rightarrow) \frac{1}{3} \sin(3t) u(t)$$

(d)

$$X(s) = \frac{s}{s^{2}+7} + \frac{2}{s+4}$$

$$= \frac{-1}{s+3} + \frac{2}{s+4}$$

$$= \frac{-1}{s+3} + \frac{2}{s+4}$$

$$= e^{-3t}u(t) + 2e^{-4t}u(t)$$

$$X(s) = \frac{(s+1)^{2}}{s^{2}-s+1} \quad \text{Re}\{s\} > \frac{1}{2}$$

$$= \frac{s^{2}-s+1}{s^{2}-s+1}$$

$$= 1 + \frac{3s}{s^{2}-s+\frac{1}{4} + \frac{3}{4}}$$

$$= 1 + \frac{3s}{s^{2}-s+\frac{1}{4} + \frac{3}{4}}$$

$$= 1 + \frac{3s}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}} + \frac{1}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}}$$

$$= 1 + \frac{3s}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}} + \frac{1}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}}$$

$$= 1 + \frac{3s}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}} + \frac{3s}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}}$$

$$= 1 + \frac{3s}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}} + \frac{3s}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}}$$

$$= 1 + \frac{3s}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}} + \frac{1}{3s}$$

$$= 1 + \frac{3s}{(s-\frac{1}{2})^{2} + (\frac{12}{4})^{2}} +$$

Possible ROCS	
Plot (a) = Ross < -2 or -2 < Ross < 2 or	ke{s} > 2
Plot (b): Ross < -2 ox Ross > -2	
Plot (c): Re{s} < > or Re{s} > 2	
Plot (d) = entire s-plane	
1. x(t) e (15+3)	2. etu(t) (Fess >-1
> R, is R shifted by 3 to the left	=> Rz is the intersection of R and Rels] >-1
and includes the jw-axis.	and includes the jw-axis.
(a) Refs}>2	(a) -2 < Pess < 2
(b) Re(s) > -2	(b) Re{s} 7 -2
(c) Re{s} > 2	cc) Re{s} < 2
(d) entire s-plane	(d) entire-S-plane
3. Rz is left-sided.	4. Ry is right-sided.
(a) Ress < -2	(a) Re{() > 2
(b) Ro{s} < -2	(b) Re{s} > -2
(c) Re{s} < 2	(c) Re{s} > 2
(d) entire s-plan	(d) entire s-plane

9.26
$$\chi_{1}(t) = e^{2t} u(t) \stackrel{t}{\longleftrightarrow} \chi_{1}(s) = \frac{1}{s+2}, Re\{s\} > -2$$

$$\chi_{1}(t) = e^{3t} u(t) \stackrel{L}{\longleftrightarrow} \chi_{1}(s) = \frac{1}{s+3}, Re\{s\} > -3$$

$$= \chi_{1}(t-2) \stackrel{L}{\longleftrightarrow} e^{2s} \chi_{1}(s) = \frac{e^{-3s}}{s+2}, Re\{s\} > -2$$

$$\chi_{1}(t-2) \stackrel{L}{\longleftrightarrow} e^{2s} \chi_{2}(s) = \frac{e^{-3s}}{s+2}, Re\{s\} > -2$$

$$\chi_{1}(t-2) \stackrel{L}{\longleftrightarrow} e^{2s} \chi_{2}(s) = \frac{e^{-3s}}{s+2}, Re\{s\} < 3$$

$$\chi_{1}(t-2) \stackrel{L}{\longleftrightarrow} e^{2s} \chi_{2}(s) = \frac{e^{-3s}}{s+2}, Re\{s\} < 3$$

$$\chi_{2}(t-2) \stackrel{L}{\longleftrightarrow} e^{2s} \chi_{3}(s) = \frac{e^{-3s}}{s+2}, Re\{s\} < 3$$

$$\chi_{2}(t-2) \stackrel{L}{\longleftrightarrow} e^{2s} \chi_{3}(s) = \frac{e^{-3s}}{s+2}, Re\{s\} < 3$$